
ROTHERM 2000

No. 36700, 036700Z, 36701, 036701V, 36702

dated: 11/14

1

www.rothenberger.de


ROTHERM 2000

No. 36700, 036700Z, 36701, 036701V, 36702

dated: 11/14

Item no. Description Article no. Quantity Price (€)

1 Housing, bottom part for transformer F85910 1 o.r.

2 Housing, upper part for transformer F85911 1 o.r.

3 Brazing cable 25 QMM pre-installed, 1 Pc. F88290 2 o.r.

4 Locknut PG13,5 black H98833 2 o.r.

4.1 Screwed cable gland PG13,5 F88508 2 o.r.

5 Hexagon head screw L81039 2 o.r.

6 Spring washer A8 DIN 127 galv. H88254 2 o.r.

7 Hexagon nut M8 DIN 934 H98289 2 o.r.

8 Lock washer DIN 6797 A 4,3 galv. L82123 2 o.r.

9 Nut DIN6923 M 4 galv. F88495 4 o.r.

10 Screw DIN7985 M4x10 L84300 2 o.r.

11 Holder for flat electrode F88255 2 o.r.

12 Screw DIN933 M 4X18 V2A F88319 8 o.r.

13 Nut DIN934 M 4 V2A F88481 8 o.r.

16 Carrier handle F98208 1 o.r.

17 Cylinder head screw M6x25 DIN 912 H98368 2 o.r.

18 Washer DIN125 B 6,4 galv. H98353 2 o.r.

19 Nut M6 DIN 934 H88500 2 o.r.

21 Transformer (230V) F85922 1 o.r.

21 Transformer (110V) F84040 1 o.r.

22 Strip 5-pin F88506 1 o.r.

23 Screwed cable gland PG11 (230V) L82182 1 o.r.

23 Screwed cable gland M20x1,5 (110-115V) L20533 1 o.r.

24 Locknut PG 11  60-88 H98337 1 o.r.

24 Locknut M20 x 1,5 (110-115V) L20534 1 o.r.

25 Pilot lamp red F88518 1 o.r.

26 Pilot lamp green F88519 1 o.r.

27 Pneumatic- electrical switch F88520 1 o.r.

28 Plug UK (115V) L21232 1 o.r.

28 Power cord UK (115V) 1300000687 1 o.r.

28 Power cord “Switzerland”(230V) H98390 1 o.r.

28 Power cord "EUROPA" (230V) H98313 1 o.r.

28 Power cord US (110V) 1300000625 1 o.r.

29 Rubber foot F88282 4 o.r.

30 Screw DIN912 M4x30 galv. H88004 2 o.r.

31 Screw DIN7985 M4x10 L84300 2 o.r.

32 Screw DIN 7985 M4x12 H98333 4 o.r.

33 Fillister head screw M5x12 H88163 4 o.r.

34 Nut DIN6923 M 4 galv. F88495 4 o.r.

35 Hexagon nut M4 DIN 985 H88517 4 o.r.

36 Nut DIN6923 M 5 galv. F98660 4 o.r.

37 Lock washer DIN6797 A 4,3 galv. L82123 4 o.r.

38 Flat pin bushing 6,3X0,8/0,5 F88477 4 o.r.

40 Connecting cable kit F88585 1 o.r.

41 Fuse plug G-10A (230V) F89275 1 o.r.

41 Fuse plug G-16A (110V) L20589 1 o.r.

42 Fuse holder cpl. 36706 1 o.r.

44 Cable tie 2,5X 92mm black F88962 1 o.r.

45 Polyamide washer H87125 2 o.r.

46 Shrink hose 25,4x12,7 1000mm lg. F86623P 0,15m o.r.

49 Lock washer DIN6797 A 5,3 galv. H96175 4 o.r.

50 Insulating paper w= 85mm L83577 1 o.r.

51 Electrode shaft holder F88252 1 o.r.

52 Handle upper - bottom part cpl. F88201 1 o.r.

54 Compression spring F86172 1 o.r.

55 Switch repairset ROTHERM 2000 F88989 1 o.r.

56 Pneumatic hose cpl. F88291 1 o.r.

57 Handle, set 36705 1 o.r.

58 hose F88292 1 o.r.

60 Flat electrode, set 36721 1 o.r.

61 Rod electrode, set 36720 1 o.r.

62 Flat electrode with holder, set 36711 1 o.r.

63 Rod electrode with holder, set 36710 1 o.r.

64 Screw M4x16 galv. DIN 7985 H88509 4 o.r.

65 Axis for ROTHERM 2000 F88528 1 o.r.

66 Nut M5 -6 DIN 985 F88524 2 o.r.

2

www.rothenberger.de


ROTHERM 2000

No. 36700, 036700Z, 36701, 036701V, 36702

dated: 11/14

IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER

Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

 

 

Powered by TCPDF (www.tcpdf.org)

3

http://www.tcpdf.org
www.rothenberger.de

